=MRERITERNFRE
BL'ZOO E ]

BIR1TE, SEEER3ME
RERSC KRB TH

A

BN
M
RETEE 1.5
X
(BXRE) ‘
= .
, \ i my
e e =
‘Sj 4% i | O
\ !
[ — ‘ o
<| O| N| X| = . w
o © © © 9SG H )
[ =l -
o
F——H
7 0
E \"
LW
B ~
42 I RE i 2%
| KSR TR A ERTERT.
Cr=
ST & BL212
BL-210
60
z & BL-208
R
40 \&
& BL-206
20 —
|
0 1000 2000 3000 4000 4500
% © min?

B SMERT scuremegamT.

M N P Q@ Q@ R R
®mX mA &/ BK R/ -

BL-206 | 165| 87 | 140 [1048|3-M10|28 ]O - 5 24120 |45 |M38x15| 29 | 66| 20 |1675| 925(3925(2925|26 | 2 |12|16| 5 |M6X12(116| 70
BL-208 | 215|100 | 170 1334(3-M12|45| 3 |-16 |32|30|63 |M55x20| 39 | 95|25 |2075|11.7553 |405 |35| 2 |14|21| 5 [M6X12|150| 92
BL-210 | 254|117 | 220 [1714|3-M16|53 |-6 |-28 |40|45|73 |MB5x20| 43 |110| 30 |2625|11.25|625 475 |40| 2 |16|27| 5 [M8x16|190{102
BL-212 | 304|138 | 220 [1714|3-M16|63 | 82|-168/38|50 |83 |M75x20| 52 |111| 30 |3825|1275|745 |57 |50| 3 |21|23| 5 [M8x16|190{120
W B AR

mmf ?Eféll@gjr WT&(E ) :ﬁ%ﬂ'& ﬁﬁﬁzg)gj nika?’(ﬂl:(fgﬂfi)ﬂ ﬁ‘ﬁfn (lgliﬁ?nﬁ (ﬁﬁhﬁmu 5*3‘2#31“*; RS T ﬁ%&g}%ﬁ) REEN BEZN
BL-206 28 165 28 20 15 27.9(2845)|31.2 (3182)| 4500 ]4.0 0.043 51246 | 340(347)| HBOBB1 | SBOBL1A
BL-208 45 215 32 25 19 41.1(4191)|490 (4997)| 3300 2560 0.198 S15652 | 299(305)| HBOBA1 | SBO8BI
BL-210 53 254 42 30 22 538(5486)|63.0 (6424)| 3000 450 0.306 51875 | 320(326)| HB10A1 | SB10B1
BL-212 63 304 43 35 25 69.3(7067)|804 (8199)| 2200 78.0 0918 82091 | 822(328)| HB12N1 | SB12N]1






